REŠITVE VAJ V DZ od strani 101 – 108: 
Če vaj v DZ še nisi naredil, jih najprej sam reši, nato z rešitvami pregleduj! Prepisovanje je rešitev na kratki rok in ne obrodi nobenih sadov  - ZNANJA 
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Exercise 1 (možni odgovori) 1 There are two happy basketball players in the picture. 2 There’s an old man in the picture. 3 I can see a young boy in the picture 4 There’s a dirty boy in the picture. 5 I can see a clean boy in the picture. 6 There’s a large/full bottle in the picture. 7 There’s an empty bottle in the picture. 8 There’s a fast boy in the picture. 9 I can see a lazy boy in the picture. 10 There’s a small/fat boy in the picture. 11 I can see an unhappy/a sad/weak boy in the picture. 12 There’s a strong boy in the picture. 13 I can see a light balloon in the picture. 14 There’s a short boy in the picture. 
Exercise 2 1. How wide is it? / How wide is the road? 2. How high is it? / How high is the mountain? 3. How long is it? / How long is his nose? 4. How deep is it? / How deep is the lake? 5. How far is it from London to Edinburgh? 
Exercise 3 Pictures 1-8: 1. a lion: brave; 2. a bee: busy/hard-working; 3. an ox: strong; 4. a bird: happy; 5. a mouse: quiet; 6. a snail/slug: slow; 7. a pig: dirty; 8. a peacock: proud. 
Pictures A-H: A. a gorilla: sad; B. a kitten: weak; C. a hare: cowardly; D. an eagle: fast; E. a lamb: humble/meek; F. a beaver: clean; G. a sloth: lazy; H. a parrot: loud.
Opposites: 1 – C; 5 – H; 2 – G; 6 – D; 3 – B; 7 – F; 4 – A; 8 – E.
Exercise 4: B – 630; C – 1,280; D – 399; E – 7,717; F – 613; G – 952; H – 4,520; I – 9,471, J – 226.
Exercise 5a 1,470 one thousand, four hundred and seventy 117 one hundred and seventeen 676 six hundred and seventy-six 6,416 six thousand, four hundred and sixteen 137 a hundred and thirty-seven 501 five hundred and one 55 fifty-five 300 three hundred 4,784 four thousand, seven hundred and eighty-four 500 five hundred 3,627 three thousand, six hundred and twenty-seven 1,000 a thousand 600 six hundred 110 one hundred and ten 9,288 nine thousand, two hundred and eighty-eight
Exercise 5b 1. – 1,470 metres deep; 676 km long; 2. – 600 years; 3. – 3,627 metres; 4. – 117 scales; 5. – 6,416 km; 6. – 300 cities; 7. – 137 metres; 8. – The Fiat 500; 9. – 9,288 kilometres; 10. – 4,784 metres; 11. – 1,000; 12. – 501; 13. – 55 countries; 14. – 110 storeys.
Exercise 6 1. play; 2. stage; 3. heavy; 4. lazybones; 5. busy; 6. crush; 7. help; 8. service; 9. stand; 10. wrestle; 11. weaker; 12. curtain; 13. move; 14. invites; 15. shocked; 16. looks. 
Exercise 7a 2. cheaper; 3. heavier; 4. lighter; 5. older; 6. fatter; 7. braver; 8. prettier; 9. shallower; 10. warmer; 11. emptier; 12. newer.
 Exercise 7b 2. larger; 3. faster; 4. higher; 5. longer; 6. warmer; 7. prettier; 8. deeper. Exercise 7c 2. stronger; 3. further from; 4. hotter; 5. wider; 6. shorter, older; 7. smaller; 8. longer. 
Exercise 7d 1. as messy as; 2. as quiet as; 3. as deep as; 4. as far … as; 5. as strong as; 6. as slow as; 7. as long as; 8. as big as / as large as; 9. as pretty as; 10. as wide as.
Exercise 8 as fast as an eagle; as slow as a slug; as tall as a tree; as small as a bug What am I? – Answer: a shadow 
Exercise 9 A The suitcase on the left is newer than the suitcase on the right. The suitcase on the right isn’t as new as the suitcase on the left. The one on the right is older than the one on the left. The suitcase on the left isn’t as big as the suitcase on the right. The suitcase on the right is bigger than the suitcase on the left. The one on the left is smaller than the one on the right. B The bed on the left is cheaper than the bed on the right. The bed on the left isn’t as expensive as the bed on the right. The one on the right isn’t as cheap as the one on the left. The bed on the right is more expensive than the bed on the left. The one on the left is narrower than the one on the left. The bed on the right is wider than the bed on the left. The one on the left isn’t as wide as the one on the right. The bed on the right is higher than the bed on the left. The bed on the left is lower than the bed on the right. The one on the right isn’t as low as the one on the left. 
Exercise 10 2. longer than; 3. easier than; 4. cheaper than; 5. heavier than; 6. smaller than; 7. faster than; 8. cleverer than; 9. sweeter than; 10. richer than. 
Exercise 11 2. The sun in picture B is hotter than the sun in picture A. / The weather in picture B is hotter/sunnier than in picture A. 3. The bridge in picture B isn’t as big as the one in picture A. 4. The church tower in picture A is taller than the church tower in picture B. 5. The car in picture A is more modern and faster than the car in picture B. 6. The road in picture A is wider than the road in picture B. / The road in picture A is straighter than the road in picture B./ The road in picture B is twistier than the road in picture A. 7. The stream in picture A is not as wide as the stream in picture B and is not as straight as the one in picture B. / The stream in picture B is not as twisty as the stream in picture A. 8. The driver in picture A is more dangerous / more experienced than the driver in picture B. /The driver in picture B is more careful / safer than the driver in picture A. 9. The luggage in picture A is lighter than the luggage in picture B. / The driver’s luggage in picture B is heavier than the driver’s luggage in picture A. 10.The driver in picture A is closer to his destination than the driver in picture B. / The driver in picture B is further from his destination than the driver in picture A. / The road distance in picture A is shorter than the road distance in picture B. 
Exercise 12 1 I’m even shorter than you are. 2 I’m even uglier than you are. 3 My car is even slower than yours. 4 My house is even colder than yours. 5 My dog is even more ill than yours. 6 I’m even weaker than you are. 7 My glass is even emptier than yours. 8 My son is even lazier than yours. 9 My suitcase is even heavier than yours. 10 I’m even fatter than you are. 11 My teeth are even worse than yours.
Exercise 13: slow slower the slowest; fast faster the fastest; tall taller the tallest; light lighter the lightest ;hot hotter the hottest; big bigger the biggest
dirty dirtier the dirtiest ;short shorter the shortest ;young younger the youngest; bad worse the worst ;good better the best; far further the furthest.
Exercise 14 1 cheaper; 2 the smallest; 3 longer; 4 faster; 5 funnier; 6 highest; 7 easier; 8 warmest; 9 fastest; 10 bigger; 11 heavier; 12 the best; 13 hottest; 14 friendlier. 
Exercise 15 2 The Nile is the longest river in the world. 3 Lake Baikal is the deepest lake in the world. 4 Pole of Cold in Antarctica is the coldest place in the world. 5 The blue whale is the largest and the heaviest animal in the world. 6 California’s redwoods (i.e. a kind of sequoia) are the tallest trees in the world 7 California’s bristlecone pines are the oldest trees in the world.

